JOURNAL OF THE CHUNGCHEONG MATHEMATICAL SOCIETY Volume 27, No. 2, May 2014 http://dx.doi.org/10.14403/jcms.2014.27.2.173

FREQUENTLY CONVERGENT SOLUTIONS OF A DIFFERENCE EQUATION

HUI LI*, FANQIANG BU**, AND YUANHONG TAO***

ABSTRACT. In this paper, using the definition and properties of frequency measurement, we describe the properties of solutions of a difference equation as the initial value belongs to different intervals of the whole domain. We get the main result that if the initial value belongs to [-1, 1] which is different from $\frac{-1\pm\sqrt{5}}{2}$, then the solution defined by initial value have two frequent limits 0 and 1 of the same degree 0.5.

1. Introduction

Frequent limit is established using the definition of frequency measurement in the early 90s ([1]-[2]), since the classical concept of limit does not capture the fine details of sequences that do not converge. Frequency measurement is a basic tool not only for discussing sequences but also for describing properties of solutions of difference equations.

There have been many results using frequent measurement, such as frequent oscillatory, frequent convergence and frequent stability of difference equations([3]-[15]). Frequency measurement is a basic tool not only for studying sequences, but also for describing properties of solutions of difference equations.

According to the existing literature in the 1930s, frequent measurement was formally known as asymptotic density, natural density and density, etc. In the beginning of the 20th century, it had been applied to study problems of random distribution models ([1]-[2]).

Received October 29, 2013; Accepted April 16, 2014.

²⁰¹⁰ Mathematics Subject Classification: Primary 26A03, 39A11.

Key words and phrases: frequency measurement, difference equation, frequent convergence.

 $[\]label{eq:correspondence} Correspondence \ should \ be \ addressed \ to \ Yuanhong \ Tao, \ taoyuanhong 12@126.com.$

^{**}Supported by Natural Science Foundation of Jilin Province(201215239).

^{***}Supported by Natural Science Foundation of China (11361065;11161049).

To any set A and B, denote $A \cup B$, $A \cap B$, $A \setminus B$ the union, the intersection and the difference of A and B respectively. Besides, ϕ means void set. If Z is the set of integers, and $k, l \in Z$, denoting $Z[k, \infty) = \{i \in Z | i \geq k\}, Z[k, l] = \{i \in Z | k \leq i \leq l\}, Z(-\infty, l] = \{i \in Z | i \leq l\}$. If $\Omega \subseteq Z$, then $|\Omega|$ means the number of elements of set Ω . Denoting $\Omega^{(n)} = \Omega \cap Z(-\infty, n]$.

Let $v = \{v_n\}$ be a sequence, then the set $\{n \in Z[k, \infty) | v_n > c\}$ will be denoted by (v > c). The notations $(v \ge c), (v < c)$ and $(v \le c)$ will be defined similarly.

DEFINITION 1.1. ([1]-[2]) Let Ω be a subset of Z^+ or $(Z[-k,\infty))$, if $\limsup_{n\to\infty} \frac{|\Omega^n|}{n}$ exists, then we call it upper frequency measurement of the set Ω , denoting by $\mu^*(\Omega)$; if $\lim_{n\to\infty} \inf \frac{|\Omega^n|}{n}$ exists, then we call it lower frequency measurement of Ω , denoting by $\mu_*(\Omega)$. Specially, if $\mu^*(\Omega) = \mu_*(\Omega)$, then we call it the frequency measurement of the set Ω , denoting by $\mu(\Omega)$, we also say that Ω is measurable. If Ω can not be measured, we say that Ω is unmeasurable.

The following are some properties of frequency measurement:

PROPOSITION 1.2. ([1]-[2]) If $\Omega \subseteq Z^+$, $\mu_*(\Omega)$ and $\mu^*(\Omega)$ both exist, then

$$0 \le \mu_*(\Omega) \le \mu^*(\Omega) \le 1.$$

If Ω is a finite set, then $\mu(\Omega) = 0$, $\mu(Z^+) = 1$. Especially $\mu(\phi) = 0$.

PROPOSITION 1.3. ([1]-[2]) If Ω and Γ are the subsets of Z^+ , $\Omega \subseteq \Gamma$, then $\mu^*(\Omega) \leq \mu^*(\Gamma)$ and $\mu_*(\Omega) \leq \mu_*(\Gamma)$.

PROPOSITION 1.4. ([1]-[2]) If Ω and Γ are two subsets of Z^+ , then we have

$$\mu_*(\Omega) + \mu^*(\Gamma) - \mu^*(\Omega \cap \Gamma) \le \mu^*(\Omega + \Gamma) \le \mu^*(\Omega) + \mu^*(\Gamma) - \mu_*(\Omega \cap \Gamma)$$

$$\mu_*(\Omega) + \mu_*(\Gamma) - \mu^*(\Omega \cap \Gamma) \le \mu_*(\Omega + \Gamma) \le \mu_*(\Omega) + \mu^*(\Gamma) - \mu_*(\Omega \cap \Gamma)$$

Besides, if Ω and Γ are mutually disjoint, then

$$\mu_*(\Omega) + \mu_*(\Gamma)$$

$$\leq \mu_*(\Omega + \Gamma) \leq \mu_*(\Omega) + \mu^*(\Gamma) \leq \mu^*(\Omega + \Gamma) \leq \mu^*(\Omega) + \mu^*(\Gamma).$$

PROPOSITION 1.5. ([1]-[2]) For any set $\Omega \subseteq Z^+$, we have

$$\mu_*(\Omega) + \mu^*(Z^+ \setminus \Omega) = 1.$$

PROPOSITION 1.6. ([1]-[2]) If Ω and Γ are two subsets of Z^+ , and $\Omega \subseteq \Gamma$, then we have

$$\mu^{*}(\Gamma) - \mu^{*}(\Omega) \leq \mu^{*}(\Gamma \setminus \Omega) \leq \mu^{*}(\Gamma) - \mu_{*}(\Omega),$$

$$\mu_{*}(\Gamma) - \mu^{*}(\Omega) \leq \mu_{*}(\Gamma \setminus \Omega) \leq \mu_{*}(\Gamma) - \mu_{*}(\Omega).$$

PROPOSITION 1.7. ([1]-[2]) If Ω and Γ are two subsets of Z^+ , and $\mu^*(\Omega) + \mu_*(\Gamma) \geq 1$, then the set $\Omega \cap \Gamma$ must be an infinite set.

2. Definitions and properties about frequent convergence

DEFINITION 2.1. ([1]) Let $X = \{x_n\}_{n=k}^{\infty}$ be a real sequence and $I \subseteq R$. If there exists a constant $\omega \in [0, 1]$ such that $\mu^*(X \notin I) \leq \omega$ (or equivalently, $\mu_*(X \in I) \geq 1 - \omega$), then X is said to be frequently inside I of upper degree ω . If $\mu_*(X \notin I) \leq \omega$ (or equivalently, $\mu^*(X \in I) \geq 1 - \omega$), then X is said to be frequently inside $I - \omega$), then X is said to be frequently inside I of lower degree ω .

In particular, if $\mu^*(X \notin I) = 0$, then X is said to be frequently inside I.

DEFINITION 2.2. ([1]-[2]) Let $X = \{x_n\}_{n=k}^{\infty}$ be a real sequence and c a constant. If for any given number $\varepsilon > 0$, there is a constant $\omega \in [0, 1)$ such that $\mu^*(|X-c| \ge \varepsilon) \le \omega$ (or $(\mu_*(|X-c| \ge \varepsilon) \le \omega))$, then c is called a frequent limit of upper (respectively lower) degree ω of the sequence X, and X is said to be frequently convergent to c of upper (respectively lower) degree ω .

If there exists a constant ε_0 such that $\mu\{|X - c| \ge \varepsilon\} = \omega$ for any number $\varepsilon \in (0, \varepsilon_0)$ then the sequence X is said to be frequently convergent to c of degree ω and c is said to be a frequent limit of degree ω of X. In particular, if $\omega = 0$, we say that X frequently converges to c, and c is the frequent limit of X.

The following are properties of frequent limit, where $X = \{x_n\}, Y = \{y_n\}, Z = \{z_n\}$ are all real sequences.

PROPOSITION 2.3. ([1]-[2]) If $f \lim_{n\to\infty} x_n = f \lim_{n\to\infty} y_n = a$ and $\mu(X \leq Z \leq Y) = 1$, then $f \lim_{n\to\infty} z_n = a$.

PROPOSITION 2.4. ([1]-[2]) If $f \lim_{n \to \infty} x_n = a$ and $f \lim_{n \to \infty} y_n = b$, then $f \lim_{n \to \infty} (x_n \pm y_n) = a \pm b$ and $f \lim_{n \to \infty} (x_n y_n) = ab$.

PROPOSITION 2.5. ([1]-[2]) If $f \lim_{n\to\infty} x_n = a$ and $f \lim_{n\to\infty} y_n = b \neq 0$, then $f \lim_{n\to\infty} (x_n/y_n) = a/b$.

PROPOSITION 2.6. ([1]-[2]) If $f \lim_{n\to\infty} x_n = a$ and function g(t) is continuous near point a, then $f \lim_{n\to\infty} g(x_n) = g(a)$.

3. Main result and its proof

In this section, we discuss the frequent convergence of solutions of the following difference equation:

$$(3.1) x_{n+1} = 1 - x_n^2$$

Given the initial-value x_0 , we can use equation (3.1) to deduce sequence $X = \{x_n\}_{n=0}^{\infty}$, then we call it the solution of the difference equation (3.1).

Obviously, if the initial-value $x_0 = \frac{-1\pm\sqrt{5}}{2}$, then we can deduce that $x_n = \frac{1 \pm \sqrt{5}}{2}, n = 0, 1, 2 \cdots$, which means the solution of the difference equation (3.1) is constant-valued. If the initial-value x_0 doesn't equal to $\frac{-1\pm\sqrt{5}}{2}$, we have the following conclusion.

THEOREM 3.1. Let x_0 be the initial-value of the difference equation (3.1), $X = \{x_n\}_{n=0}^{\infty}$ be its solution, then we have the following results.

- 1) If $x_0 \in (-\infty, \frac{-1-\sqrt{5}}{2}) \cup (\frac{1+\sqrt{5}}{2}, +\infty)$, then $X = \{x_n\}_{n=0}^{\infty}$ frequently 1) If $x_0 \in (-\infty, -\frac{2}{2})$; 2) If $x_0 \in (\frac{-1-\sqrt{5}}{2}, -1) \cup [1, \frac{1+\sqrt{5}}{2})$, then $X = \{x_n\}_{n=0}^{\infty}$ frequently
- inside $(\frac{-1-\sqrt{5}}{2}, 1);$
- 3) If $x_0 \in (-1, \frac{1-\sqrt{5}}{2}) \cup (\frac{1-\sqrt{5}}{2}, 0) \cup [0, \frac{-1+\sqrt{5}}{2}) \cup (\frac{-1+\sqrt{5}}{2}, 1]$, then $X = \{x_n\}_{n=0}^{\infty}$ has two frequent limits 0 and 1 of the same degree 0.5.

Proof. Let $H(t) = 1 - (1 - t^2)^2$ and $G(t) = H(t) - t = 2t^2 - t^4 - t$. If G(t) = 0, then we can get four roots: $t_1 = \frac{-1 - \sqrt{5}}{2}, t_2 = 0, t_3 = \frac{-1 + \sqrt{5}}{2}, t_5 = 0, t_7 = \frac{-1 + \sqrt{5}}{2}, t_7 = 0, t_8 = \frac{-1 + \sqrt{5}}{2}, t_8 = \frac{-1 + \sqrt{5}}{2},$ $t_4 = 1.$

By elementary analysis, it is easy to see that $G(t) \leq 0$ for $t \in$ $(-\infty, \frac{-1-\sqrt{5}}{2}) \cup [0, \frac{-1+\sqrt{5}}{2}) \cup [1, +\infty) \text{ and } G(t) \ge 0 \text{ for } t \in (\frac{-1-\sqrt{5}}{2}, 0) \cup$ $(\frac{-1+\sqrt{5}}{2}, 1]$, that is,

(3.2)
$$\begin{cases} t \ge 1 - (1 - t^2)^2, & t \in (-\infty, \frac{-1 - \sqrt{5}}{2}) \cup [0, \frac{-1 + \sqrt{5}}{2}) \cup [1, +\infty) \\ \\ \\ t \le 1 - (1 - t^2)^2, & t \in (\frac{-1 - \sqrt{5}}{2}, 0) \cup (\frac{-1 + \sqrt{5}}{2}, 1] \end{cases}$$

According to the initial-value in different intervals, we divide the problem into five cases :

$$I: x_0 \in (-\infty, \frac{-1 - \sqrt{5}}{2}); \quad II: x_0 \in (\frac{-1 - \sqrt{5}}{2}, 0)$$
$$III: x_0 \in [0, \frac{-1 + \sqrt{5}}{2}); \quad IV: x_0 \in (\frac{-1 + \sqrt{5}}{2}, 1]; \quad V: x_0 \in (1, +\infty].$$

We then discuss each case in details:

Case $I: x_0 \in (-\infty, \frac{-1-\sqrt{5}}{2})$. Since $x_0^2 > \frac{3+\sqrt{5}}{2}$, we have $x_1 = 1 - x_0^2 < \frac{-1-\sqrt{5}}{2}$ and $x_1^2 > \frac{3+\sqrt{5}}{2}$, then $x_2 = 1 - x_1^2 < \frac{-1-\sqrt{5}}{2}$, thus we can easily deduce that

$$\{x_n\}_{n=0}^{\infty} \subset (-\infty, \frac{-1-\sqrt{5}}{2}).$$

Thus in view of the inequality $t \ge 1 - t^2$ on $t \in (-\infty, \frac{-1-\sqrt{5}}{2})$, we have

$$\frac{-1-\sqrt{5}}{2} > x_0 > x_1 > x_2 > \dots > x_n > \dots,$$

that is, $\{x_n\}_{n=0}^{\infty}$ is a decreasing sequence which belongs to $(-\infty, \frac{-1-\sqrt{5}}{2})$. It also means $\mu(X \notin (-\infty, \frac{-1-\sqrt{5}}{2})) = 0$, hence $\{x_n\}$ is frequently inside $(-\infty, \frac{-1-\sqrt{5}}{2})$.

Case II: $x_0 \in (\frac{-1-\sqrt{5}}{2}, 0).$

In this case, we will divide the interval $(\frac{-1-\sqrt{5}}{2},0)$ into three subintervals:

(I) $x_0 \in (\frac{-1-\sqrt{5}}{2}, -1).$

Since $1 < x_0^2 < \frac{3+\sqrt{5}}{2}$, we have $\frac{-1-\sqrt{5}}{2} < x_1 = 1-x_0^2 < 0$ and $0 < x_1^2 < \frac{3+\sqrt{5}}{2}$, then from $\frac{-1-\sqrt{5}}{2} < x_2 = 1-x_1^2 < 1$ and $0 < x_2^2 < \frac{3+\sqrt{5}}{2}$ we have $\frac{-1-\sqrt{5}}{2} < x_3 = 1-x_2^2 < 1$, thus we can deduce that $\{x_n\}_{n=2}^{\infty} \subset (\frac{-1-\sqrt{5}}{2}, 1)$ except for $x_0 \in (\frac{-1-\sqrt{5}}{2}, -1)$ and $x_1 \in (\frac{-1-\sqrt{5}}{2}, 0)$, that is to say, $\mu(X \notin (\frac{-1-\sqrt{5}}{2}, 1)) = 0$, hence X is frequently inside $(\frac{-1-\sqrt{5}}{2}, 1)$.

(II) $x_0 \in (-1, \frac{1-\sqrt{5}}{2}).$

Since $\frac{3-\sqrt{5}}{2} < x_0^2 < 1$, we have $0 < x_1 = 1 - x_0^2 < \frac{-1+\sqrt{5}}{2}$ and $0 < x_1^2 < \frac{3-\sqrt{5}}{2}$, then from $\frac{-1+\sqrt{5}}{2} < x_2 = 1 - x_1^2 < 1$ and $\frac{3-\sqrt{5}}{2} < x_2^2 < 1$ we have $0 < x_3 = 1 - x_2^2 < \frac{-1+\sqrt{5}}{2}$ and $0 < x_3^2 < \frac{3-\sqrt{5}}{2}$, then $\frac{-1+\sqrt{5}}{2} < x_4 = 1 - x_3^2 < 1$. Thus we can deduce that $\{x_{2n+1}\}_{n=0}^{\infty} \subset (0, \frac{-1+\sqrt{5}}{2})$ and $\{x_{2n}\}_{n=1}^{\infty} \subset (\frac{-1+\sqrt{5}}{2}, 1)$.

From (3.1), we obtain that

(3.3)
$$x_{n+2} = 1 - x_{n+1}^2 = 1 - (1 - x_n^2)^2, n = 0, 1, 2, \dots$$

In view of the inequality (3.2), we have

$$\frac{-1+\sqrt{5}}{2} > x_1 \ge 1 - (1-x_1^2)^2$$

= $x_3 \ge \dots \ge x_{2n+1} \ge 1 - (1-x_{2n+1}^2)^2 = x_{2n+3} \ge \dots \ge 0$
$$\frac{-1+\sqrt{5}}{2} < x_2 \le 1 - (1-x_2^2)^2$$

= $x_4 \le \dots \le x_{2n-2} \le 1 - (1-x_{2n}^2)^2 = x_{2n+2} \le \dots \le 1$

If we denote $y_n = x_{2n+1}$ for n = 0, 1, 2, ..., then $\lim_{n\to\infty} y_n = y_* \in [0, \frac{-1+\sqrt{5}}{2})$. We next assert that $y_* = 0$. Note that we can write (3.3) in the following form

$$y_n = H(y_{n-1}), n = 1, 2, \dots$$

where $H(u) = 1 - (1 - u^2)^2$. Note that the polynomial $G(t) = H(t) - t = 1 - t - (1 - t^2)^2$ has only one root 0 in $[0, \frac{-1 + \sqrt{5}}{2})$, and from (3.3) we have $y_* = 1 - (1 - y_*^2)^2$, i.e., $G(y_*) = 0$, hence $y_* = 0$.

Since G(t) also has only one root in $(\frac{-1+\sqrt{5}}{2}, 1]$, by similar arguments, we may show that $\lim_{n\to\infty} x_{2n-1} = 1$, thus the solution X of the difference equation (3.1) have two frequent limits 0 and 1 of the same degree 0.5.

(III) $x_0 \in (\frac{1-\sqrt{5}}{2}, 0).$

Since $0 < x_0^2 < \frac{3-\sqrt{5}}{2}$, we have $\frac{-1+\sqrt{5}}{2} < x_1 = 1 - x_0^2 < 1$ and $\frac{3-\sqrt{5}}{2} < x_1^2 < 1$, then from $0 < x_2 = 1 - x_1^2 < \frac{-1+\sqrt{5}}{2}$ and $0 < x_2^2 < \frac{3-\sqrt{5}}{2}$ we have $\frac{-1+\sqrt{5}}{2} < x_3 = 1 - x_2^2 < 1$ and $\frac{3-\sqrt{5}}{2} < x_3^2 < 1$, then $0 < x_4 = 1 - x_3^2 < \frac{-1+\sqrt{5}}{2}$, thus we can deduce that $\{x_{2n+1}\}_{n=0}^{\infty} \subset (\frac{-1+\sqrt{5}}{2}, 1)$ and $\{x_{2n}\}_{n=1}^{\infty} \subset (0, \frac{-1+\sqrt{5}}{2})$. By (3.2), we get that

$$\frac{-1+\sqrt{5}}{2} < x_1 < x_3 < x_5 < \dots < x_{2n+1} < \dots < 1, (n=0,1,2\dots)$$
$$\frac{-1+\sqrt{5}}{2} > x_2 > x_4 > x_6 > \dots > x_{2n} > \dots > 0, (n=1,2\dots)$$

By similar argument with (II), we can conclude that the solution of different equation (3.1) have two frequent limits 0 and 1 of the same degree 0.5.

Case III : $x_0 \in [0, \frac{-1+\sqrt{5}}{2}).$

Since $0 \le x_0^2 < \frac{3-\sqrt{5}}{2}$, we have $\frac{-1+\sqrt{5}}{2} < x_1 = 1-x_0^2 \le 1$, then from $\frac{3-\sqrt{5}}{2} < x_1^2 \le 1$ we have $0 \le x_2 = 1-x_1^2 < \frac{-1+\sqrt{5}}{2}$; and from

 $0 \leq x_2^2 < \frac{3-\sqrt{5}}{2}$ we have $\frac{-1+\sqrt{5}}{2} < x_3 = 1 - x_2^2 \leq 1$; also from $\frac{3-\sqrt{5}}{2} < x_3^2 \leq 1$ we have $0 \leq x_4 = 1 - x_3^2 < \frac{-1+\sqrt{5}}{2}$, thus we can deduce that $\{x_{2n+1}\}_{n=0}^{\infty} \subset (\frac{-1+\sqrt{5}}{2}, 1]$ and $\{x_{2n}\}_{n=0}^{\infty} \subset [0, \frac{-1+\sqrt{5}}{2})$, hence by the similar argument with the above, we can get the conclusion that the solution of the difference equation (3.1) have two frequent limits 0 and 1 of the same degree 0.5.

Case $IV: x_0 \in (\frac{-1+\sqrt{5}}{2}, 1].$

Since $\frac{3-\sqrt{5}}{2} < x_0^2 \leq 1$, we have $0 \leq x_1 = 1 - x_0^2 < \frac{-1+\sqrt{5}}{2}$ and $0 \leq x_1^2 < \frac{3-\sqrt{5}}{2}$, then from $\frac{-1+\sqrt{5}}{2} < x_2 = 1 - x_1^2 \leq 1$ and $\frac{3-\sqrt{5}}{2} < x_2^2 \leq 1$ we have $0 \leq x_3 = 1 - x_2^2 < \frac{-1+\sqrt{5}}{2}$ and $0 \leq x_3^2 < \frac{3-\sqrt{5}}{2}$, then $\frac{-1+\sqrt{5}}{2} < x_4 = 1 - x_3^2 \leq 1$, thus we can deduce that $\{x_{2n+1}\}_{n=0}^{\infty} \subset [0, \frac{-1+\sqrt{5}}{2})$ and $\{x_{2n}\}_{n=0}^{\infty} \subset (\frac{-1+\sqrt{5}}{2}, 1]$, so we can get the same conclusion with to case III.

Case $V: x_0 \in [1, +\infty).$

We divide the interval $[1, +\infty)$ into two subintervals:

(I) $x_0 \in (\frac{1+\sqrt{5}}{2}, +\infty).$

Since $\frac{3+\sqrt{5}}{2} < x_0^2 < +\infty$, we have $-\infty < x_1 = 1 - x_0^2 < \frac{-1-\sqrt{5}}{2}$ and $\frac{3+\sqrt{5}}{2} < x_1^2 < +\infty$, then from $-\infty < x_2 = 1 - x_1^2 < \frac{-1-\sqrt{5}}{2}$ and $\frac{3+\sqrt{5}}{2} < x_2^2 < +\infty$, we have $-\infty < x_3 = 1 - x_2^2 < \frac{-1-\sqrt{5}}{2}$, thus we can deduce that $\{x_n\}_{n=1}^{\infty} \subset (-\infty, \frac{-1-\sqrt{5}}{2})$. In view of the inequality $t > 1 - t^2$ on $t \in (-\infty, \frac{-1-\sqrt{5}}{2})$, we have

$$\frac{-1-\sqrt{5}}{2} > x_1 > x_2 > x_3 > \dots > x_n > \dots, (n = 1, 2\dots)$$

thus the solution X of the difference equation (3.1) is frequently inside $(-\infty, \frac{-1-\sqrt{5}}{2})$.

(II) $x_0 \in [1, \frac{1+\sqrt{5}}{2}).$

Since $1 < x_0^2 < \frac{3+\sqrt{5}}{2}$, we have $\frac{-1-\sqrt{5}}{2} < x_1 = 1-x_0^2 < 0$ and $0 < x_1^2 < \frac{3+\sqrt{5}}{2}$, then $\frac{-1-\sqrt{5}}{2} < x_2 = 1-x_1^2 < 1$, i.e., $x_2 \in (\frac{-1-\sqrt{5}}{2}, 1)$. Similar with the discuss of first situation (I) of *caseII*, we can conclude that the solution X of the difference equation (3.1) is frequently inside $(\frac{-1-\sqrt{5}}{2}, 1)$.

All in all, if $x_0 \in (-\infty, \frac{-1-\sqrt{5}}{2}) \cup (\frac{1+\sqrt{5}}{2}, +\infty)$, then the solution $\{x_n\}_{n=0}^{\infty}$ is frequently inside $(-\infty, \frac{-1-\sqrt{5}}{2})$; if $x_0 \in (\frac{-1-\sqrt{5}}{2}, -1) \cup [1, \frac{1+\sqrt{5}}{2})$, then the solution $\{x_n\}_{n=0}^{\infty}$ is frequently inside $(\frac{-1-\sqrt{5}}{2}, 1)$; if $x_0 \in (-1, \frac{1-\sqrt{5}}{2}) \cup (1, \frac{1-\sqrt{5}}{2})$.

 $(\frac{1-\sqrt{5}}{2},0) \cup [0,\frac{-1+\sqrt{5}}{2}) \cup (\frac{-1+\sqrt{5}}{2},1]$, then the solution $\{x_n\}_{n=0}^{\infty}$ have two frequent limits 0 and 1 of the same degree 0.5.

References

- Ch. Tian and S. Cheng, Frequent Convergence and Applications, Mathema tical Analysis 23(13) (2006), 653-668.
- [2] Ch. Tian, *Theory of frequent measurement*, Peking: Scientific Publication. 2010.
- [3] Zh. Zhu and S. Cheng, Frequently Oscillatory Solution of Neutral Difference Equation, Southeast Asian Bulletin of Mathematics 29 (2005), 624-634.
- [4] Ch. Tian, S. Cheng, and M. Gurdal, Necessary and Sufficient Conditions for Frequent Cauchy Sequences, Asian-European Journal of Mathematics 2 (2009), no. 2, 289-299.
- [5] Sh. Liu and H. Wang, Necessary and sufficient conditions for oscillations of a class of delay partial difference equations, Dynamic Systems and Applications 7 (1998), no. 4, 495-500.
- [6] Sh. Liu and Zh. Han, Oscillation of nonlinear delay partial difference equations with positive and negative coefficients, Southeast Asian Bulletin of Mathematics 29 (2005), 1069-1086.
- [7] Sh. liu and Y. Liu, Oscillation theorems for nonlinear partial difference equation with positive and negative coefficients, Computers and Mathematics with Applications 43 (2002), 1219-1230.
- [8] B. Zhang and Sh. liu, Oscillation of partial difference equations with veriable coefficients, Computers and Mathematics with Applications 36(10-12) (1998), 235-242.
- Y. Tao and X. Li, Frequently oscillatory solutions for nonlinear delay partial difference equations, Journal of Natural Science of Heilongjiang university 27 (2011), no. 5, 591-602.
- [10] J. Y. Wong and R. P. Agarwal, Oscillation criteria for nonlinear partial difference equations with delays, Computers Math. Applic. 32, 1996, 57-86.
- [11] J. Yang, Y. J. Zhang, and S. S. Cheng, Frequent oscillation in a nonlinear partial difference equation, Central European Journal of Mathematics 5 (2007), no. 3, 607-618.
- [12] J. Yang, Y. J. Zhang, Frequent oscillatory solution of a nonlinear partial difference equation, Journal of Computational and Applied Mathematics 224 (2009), no. 2, 492-499.
- [13] Ch. Tian and S. Cheng, Frequently stable difference systems, International Journal of Modern Mathematics 3 (2008), no. 2, 153-166.
- [14] D. Wu and Y. Tao, Frequently Oscillatory Solutions of a Nonlinear Partial Difference Equation with Positive and Negative Coefficients, Journal of Natural Science of Hainan Normal University 24 (2011), no. 4, 354-385.
- [15] Y. Tao and D. Wu, Oscillatory behavior of delay partial difference equations, Journal of Natural Science of yanbian University 37 (2011), no. 1, 42-45.

*

Department of Mathematics Yanbian University Yanji, 133002, P. R. China *E-mail*: 81709016@163.com

**

Normal Branch Yanbian University Yanji, 133002, P. R. China *E-mail*: 125337851@qq.com

Department of Mathematics Yanbian University Yanji, 133002, P. R. China *E-mail*: taoyuanhong12@126.com